



Project Name: WASHING OF HEAVY DUTY VEHICLES

Solicitation #: 2018-1176

Pepartment: STREETS AND MAINTENANCE

Bid Opening Date: JULY 25, 2018 Department: STREETS AND MAINTENANCE								
GI	ROUP A: OFF-SITE - WASHING AT A VENDO	EL PASO MOBILE CARWASH EL PASO, TX						
ITEM NO.	DESCRIPTION	ESTIMATED ANNUAL QUANTITY	PRICE PER UNIT	ESTIMATED ANNUAL TOTAL (QTY (A) X PRICE PER UNIT (B))	X3)	PRICE PER UNIT	UNIT (B))	3 YEAR ESTIMATED EXTENDED TOTAL (ANNUAL (C) TOTAL X 3)
		(A)	(B)	(C)	(D)	(B)	(C)	(D)
1.	SINGLE AXLE STRAIGHT TRUCKS (FLATBEDS, WATER TRUCKS, ETC)	25	\$20.00	\$500.00	\$1,500.00			
2.	TANDEM AXLE STRAIGHT TRUCKS (DUMP TRUCKS, REFUSE TRUCKS, ETC.)	50	\$30.00	\$1,500.00	\$4,500.00			
3.	TRACTOR TRAILERS	10	\$30.00	\$300.00	\$900.00			
4.	CONSTRUCTION EQUIPMENT	15	\$45.00	\$675.00	\$2,025.00			
	TOTAL GROUP A (ITEMS 1-4)			\$2,975.00	\$8,925.00			

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract. This is a Best Value Procurement. Price and other factors shall be evaluated to determine an awardee.

APPROVED BY: ____/s/____ DATE: ____7/31/2018_____





Project Name: WASHING OF HEAVY DUTY VEHICLES Solicitation #: 2018-1176 Bid Opening Date: JULY 25, 2018 **Department: STREETS AND MAINTENANCE EL PASO MOBILE CARWASH EL PASO, TX GROUP B - OFF-SITE - WASHING OF HEAVILY STAINED TRUCK COMPONENTS** (ENGINE, TRANSMISSION, DIFFERENTIAL AND HYDRAULIC COMPONENTS TO INCLUDE ARM, CYLINDERS, EXTERIOR OF HYDRAULIC RESERVOIR, BATTERY COVERS, **PUMP AND HYDRAULIC LINES) ESTIMATED ANNUAL 3 YEAR ESTIMATED ESTIMATED ANNUAL** 3 YEAR ESTIMATED **ESTIMATED PRICE PER TOTAL EXTENDED TOTAL** PRICE PER **TOTAL EXTENDED TOTAL** ANNUAL ITEM UNIT (QTY (A) X PRICE PER (ANNUAL (C) TOTAL UNIT (QTY (A) X PRICE PER (ANNUAL (C) TOTAL **DESCRIPTION QUANTITY** NO. UNIT (B)) X3) UNIT (B)) X3) (D) (A) (B) (C) (D) (B) (C) SINGLE AXLE STRAIGHT TRUCKS 1. 25 \$40.00 \$1,000.00 \$3,000.00 (FLATBEDS, WATER TRUCKS, ETC) **TANDEM AXLE STRAIGHT TRUCKS** 2. \$60.00 \$1,500.00 \$4,500.00 25 (DUMP TRUCKS, REFUSE TRUCKS, ETC.)

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

This is a Best Value Procurement. Price and other factors shall be evaluated to determine an awardee.

TOTAL GROUP B (ITEMS 1-2)

\$2.500.00

\$7,500.00





Project Name: WASHING OF HEAVY DUTY VEHICLES

Solicitation #: 2018-1176

Bid Opening Date: JULY 25, 2018

Department: STREETS AND MAINTENANCE

Bid Opening Date: JULY 25, 2018 Department: STREETS AND MAINTENANCE								
	GROUP C: ON-SITE - WASHING AT A CITY	EL PASO MOBILE CARWASH EL PASO, TX						
ITEM NO.	DESCRIPTION	ESTIMATED ANNUAL QUANTITY	PRICE PER UNIT	ESTIMATED ANNUAL TOTAL (QTY (A) X PRICE PER UNIT (B))	X3)	PRICE PER UNIT	ESTIMATED ANNUAL TOTAL (QTY (A) X PRICE PER UNIT (B))	X3)
		(A)	(B)	(C)	(D)	(B)	(C)	(D)
1.	SINGLE AXLE STRAIGHT TRUCKS (FLATBEDS, WATER TRUCKS, ETC)	90	\$20.00	\$1,800.00	\$5,400.00			
2.	TANDEM AXLE STRAIGHT TRUCKS (DUMP TRUCKS, REFUSE TRUCKS, ETC.)	1200	\$30.00	\$36,000.00	\$108,000.00			
3.	TRACTOR TRAILERS	50	\$30.00	\$1,500.00	\$4,500.00			
4.	CONSTRUCTION EQUIPMENT	50	\$45.00	\$2,250.00	\$6,750.00			
TOTAL GROUP C (ITEMS 1-4)				\$41,550.00	\$124,650.00			

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract. This is a Best Value Procurement. Price and other factors shall be evaluated to determine an awardee.

APPROVED BY: ____/s/____ DATE: ____7/31/2018_____





•	ect Name: WASHING OF HEAVY DUTY Opening Date: JULY 25, 2018	VEHICLES				Donartm		tion #: 2018-1176
GRO	UP D - ON-SITE - WASHING OF HEAVILY ST	EL PASO MOBILE CARWASH EL PASO, TX OMPONENTS TO INCLUDE ARM, CYLINDERS, EXTERIO			Department: STREETS AND MAINTENANC OR OF HYDRAULIC RESERVOIR, BATTERY COVERS,			
			PUNP	AND HYDRAULIC LINI	=8)			
ITEM NO.	DESCRIPTION	ESTIMATED ANNUAL QUANTITY	PRICE PER UNIT	ESTIMATED ANNUAL TOTAL (QTY (A) X PRICE PER UNIT (B))	3 YEAR ESTIMATED EXTENDED TOTAL (ANNUAL (C) TOTAL X 3)	PRICE PER UNIT	ESTIMATED ANNUAL TOTAL (QTY (A) X PRICE PER UNIT (B))	3 YEAR ESTIMATED EXTENDED TOTAL (ANNUAL (C) TOTAL X 3)
		(A)	(B)	(C)	(D)	(B)	(C)	(D)
1.	SINGLE AXLE STRAIGHT TRUCKS (FLATBEDS, WATER TRUCKS, ETC)	40	\$40.00 BIDDER SECOND PRICE \$60.00	\$1,600.00 BIDDER SECOND PRICE \$36,000.00	\$4,800.00 BIDDER SECOND PRICE \$108,000.00			
2.	TANDEM AXLE STRAIGHT TRUCKS (DUMP TRUCKS, REFUSE TRUCKS, ETC.)	600	\$60.00	\$36,000.00	\$108,000.00 BIDDER'S PRICE \$108.00			
	TOTAL GROUP D (ITEMS 1-2)			\$37,600.00	\$112,800.00			
	TOTAL ANNUAL AMOUNT - GROUP	S A - D		\$84,62	5.00			
				BIDDER'S PRIC				
TOTAL 3 YEAR COST - GROUPS A - D				\$253,875.00 BIDDER'S PRICE \$121,725.00				

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract. This is a Best Value Procurement. Price and other factors shall be evaluated to determine an awardee.

APPROVED	BY:	/s/
DATF:	7/31/2018	





Project Name: WASHING OF HEAVY DUTY VEHICLES Bid Opening Date: JULY 25, 2018	Solicitation #: 2018-1170 Department: STREETS AND MAINTENANCE		
	EL PASO MOBILE CARWASH EL PASO, TX		
OPTION TO EXTEND THE TERM OF THE AGREEMENT			
THE CITY AT ITS SOLE DISCRETION, MAY EXERCISE ANY OPTION TO EXTEND THE TERM OF THE AGREEMENT, BY GIVING THE CONTRACTOR WRITTEN NOTICE WITHIN THE TIME PERIOD NOTED ON THE SELECTED OPTIONS. THE TERM OF THIS CONTRACT SHALL BE BASED ON ONE OF SELECTIONS BELOW AND UNDER THE SAME TERMS AND CONDITIONS. THE CITY MANAGER OR DESIGNEE MAY EXTEND THE OPTION TO EXTEND BIDDER OFFERS THE CITY THE OPTION OF EXTENDING THE TERM OF THE CONTRACT FOR:).		
TWO (2) ADDITIONAL YEARS AT THE SAME UNIT PRICE(S), IF THE OPTION IS EXERCISED PRIOR TO THE EXPIRATION OF THE ORIGINAL TERM OF THE CONTRACT:	X		
PAYMENT TERMS:	3.5% - 10 DAYS		
BIDS SOLICITED: 12 LOCAL BIDS SOLICITED: 11 BIDS	RECEIVED: 1 LOCAL BIDS RECEIVED: 1	NO BID: 0	

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract. This is a Best Value Procurement. Price and other factors shall be evaluated to determine an awardee.